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TECHNICAL KNOWLEDGE

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Which pattern operation is used for manufacturing wheel rims?

(A) Follow board (B) Segmental pattern (C) Sweep pattern (D) Gated pattern
pattern

Casting method used to make dental restorations is-

(A) Sand casting (B) Die casting (C) Continuous casting (D) Investment casting
In a centre lathe, the spindle speed will be the lowest during-
(A) Taper turning (B) Thread cutting (C) Parting off (D) Knurling
Which taper is used on the spindle nose of the lathe headstock?
(A) Jerno taper (B) Brown and Sharp  (C) Pin taper (D) Morse taper
taper
The tool post of a shaper is mounted on-
(A) Base (B) Cross rail (C) Clapper box (D) Saddle
Scribers are made of-
(A) Mild steel (B) High carbon steel (C) Brass (D) Cast iron
In sand moulding, the top portion of the mould is known as-
(A) Cope (B) Drag (C) Sprue (D) Runner
Which of the following is an example of thermosets?
(A) Polyester (B) Polypropylene (C) Polystyrene (D) Polyurethane
Which of the following active fluxes is used for soldering galvanised iron and zinc sheets?
(A) Dilute hydrochloric (B) Ammonium (© Zinc ammonium (D) Zinc chloride
acid chloride chloride
The depth bar of Vernier caliper is attached with-
(A) Fixed jaw (B) Movable jaw (C) Fine adjustment (D) Both fixed jaw and
screw adjustment screw

Which chisel is used for cutting keysways?
(A) Flat chisel (B) Diamond-point (C) Cape chisel (D) Round nose chisel
chisel

Which grade of file is used to remove small amount of metal?

(A) Dead smooth file  (B) «Smoeth file (C) Second cut file (D) Rough file

The lever type dial test indicator works with the principle of-

(A) Rack and pinion . (B) Sliding movement (C) Slide rule (D) Lever and scroll

Feed of the tool in a lathe is expressed in-

(A) m/min (B) mm/min (C) mm/rev (D) cm/rev

Thickness of the tooth in a gear is measured along the-

(A) Root circle (B) Pitch circle (C) Addendum circle (D) Dedendum circle

Which of the following welding processes uses non-consumable electrodes?

(A) MIG welding B) TIG welding (C) Submerged arc (D) Thermit welding

welding

In thermit welding, aluminium and iron oxide are mixed in the ratio of-

(A)1:3 B) 1:2 G 1:1 D)2:1

Acetylene gas is produced from-

(A) Carbon (B) Calcium carbide (C) Calcium chloride (D) Calcium carbonate

The size of a gear is usually specified by-

(A) Pressure angle (B) Circular pitch (C) Diametrical pitch (D) Pitch circle diameter

Which type of scraper is suitable for removing larger quantities of chips?

(A) Half round scraper (B) Flat scraper (C) Bull nose scraper (D) Three square
scraper
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21.

22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

Aluminium is extracted from the ore-

(A) Pyrites (B) Bauxite (C) Sphalerite (D) Magnetite
The surface gauge is used for-
(A) Checking (B) Checking right (C) Truing the job (D) Marking purposes
dimensions angles
The drill size for a M20 tap is-
(A) 17.5 mm B) 18 mm (C) 18.5 mm D) 19 mm
is used to join two pieces of rope of equal diameters.
(A) Slip knot (B) Bowline knot (C) Square knot (D) Sheep shank knot
Hacksaw blade of is suitable for sheet metal tubing.

(A) 14 tooth perinch  (B) 18 tooth perinch  (C) 24 tooth perinch (D) 32 tooth per inch

The hardness of lathe beds would be measured by-
(A) Rockwell hardness (B) Brinell hardness (C) Shore scleroscope (D) Vickers hardness
tester tester tester

Irregular shaped workpiece is clamped on the lathe in-

(A) Face plate (B) Four jaw chuck (C) Collet chuck (D) Mandrel

Four jaw chuck is also known as-

(A) Self centering (B) Self chuck (C) Universal chuck (D) Independent jaw
chuck chuck

Tempering is the process of removing the property of=

(A) Brittleness (B) Malleability (C) Toughness (D) Ductility

The electrolyte generally used in electro-chemical drilling process is-

(A) White spirit (B) Transformer oil (C).Aqueous solution of (D) Vegetable oil

common salt

Which of the following threads is used when the force acts entirely in one direction?

(A) Square thread (B) Buttress thread (C) B.S.W thread (D) Acme thread
While drilling in lathe, the drill is held in-

(A) Headstock (B) Tailstoek (C) Compound rest (D) Bed
Traveling steady rest in lathe is mounted on-

(A) Tailstock (B) Saddle (C) Bed (D) Headstock
Low helix drills or slow spiral angle drills, typically have about a helix.

A) 60° B).40° (C) 30° (D) 12°

In a riveted joint, the.distance between the centres of adjacent rivets in the same row is
called-

(A) Gauge distancé (B) Lap distance (C) Pitch (D) Edge distance
The tool and workpiece in electro-discharge machining process are separated by-

(A) An ionised gas B) A dielectric fluid  (C) An electrolytic (D) An insulating

solution material

Which of the following fits comes under the category of transition fit?

(A) Wringing fit (B) Sliding fit (C) Running fit (D) Forece fit
The sliding surface of lathe bed is-
(A) Flame hardened (B) Normalized (C) Case hardened (D) Tempered

The component in ball bearing that separates the balls and maintains the proper spacing
is-

(A) Journal (B) Cage (C) Outer race (D) Inner race
Grinding process used for steel balls of a ball bearing is called-

(A) Cylindrical grinding (B) Spherical grinding  (C) Surface grinding (D) Centreless grinding
Age hardening is related to-

(A) Brass (B) Duralumin (C) Muntz metal (D) White metal
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62.

The resistance of a material to elastic deformation is-

(A) Stiffness (B) Ductility (C) Fatigue (D) Resistivity
The cutting angle of chisel for chipping cast steel is-

(A) 30° (B) 45° (C) 50° D) 70°
Melting point of tin is-

(A) 232°C B) 300° C (C) 400° C (D) 532° C
Which of the following is the most commonly used flux in a blast furnace?

(A) Limestone (B) Charcoal (C) Siderite (D) Bauxite

A stamping process that produces a shallow relief design on sheet metal is-

(A) Tinning (B) Embossing (C) Forming (D) Triangulation
Crankshaft rotating in the journal bearing of an engine forms a-

(A) Screw pair (B) Turning pair (C) Spherical pair (D) Rolling pair

In a steam engine, the piston rod is connected to the cross head by means of a-

(A) Knuckle joint (B) Cotter joint (C) Universal joint (D) Coupling joint
The coupling which allows positive transmission of power at larger angles is-

(A) Plate coupling (B) Universal coupling (C) Slip type coupling (D) Clamp coupling

Linseed acts as a/an in core making of casting process.

(A) Additive (B) Moisture content  (C) Catalyst (D) Binder

The power from the leadscrew to the carriage in lathe is.transmitted through-

(A) Gear system (B) Pulley drive (C)«Rack'and pinion (D) Half nut
arrangement

Which of the following is an artificial abrasive?

(A) Emery (B) Solid quartz (C) Corundum (D) Silicon carbide

Weld spatter is a kind of-
(A) Welding defect (B) Welding technique (C) Welding electrode (D) Welding stick

Brass is an alloy of-

(A) Lead and Zinc (B) Leadand tin (C) Copper and Zinc (D) Copper and lead
Sine bar is specified by-
(A) Total length (B) .Centre distance (C) Size of the rollers (D) Distance between
between two rollers rollers and upper
surface

Molten metal is poured for joining the metals in-

(A) Arc welding (B) Thermit welding  (C) Gas welding (D) TIG welding

The binding material used in cemented carbide tools is-

(A) Nickel (B) Cobalt (©) Aluminium (D) Chromium

The tools made of carbide wear out faster at-

(A) Slow speeds (B) Medium speeds (C) Fast speeds (D) Very fast speeds
In spot welding, the tip of electrode is made of-

(A) Stainless steel (B) Aluminium (C) Copper (D) Brass

Wax pattern is used in-

(A) Shell moulding (B) Die casting (C) Investment casting (D) Centrifugal casting

Vulcanisation is the process of adding-
(A) Sulphur into rubber (B) Acetic acid into (C) Plasticizers into (D) Zinc phosphate into
rubber rubber steel

The machining method which uses abrasive slurry is-
(A) Electro-discharge  (B) Ultrasonic (C) Plasma arc (D) Electrochemical
machining machining machining machining

Page 5



Page6

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

717.

78.

79.

80.

In drawing operation, the metal flows due to-

(A) Ductility (B) Work hardening  (C) Plasticity (D) Shearing
The weight of a sledge hammer varies between-

(A) 1and 2 kg (B) 4 and 10 kg (C) 12 and 15 kg (D) 15 and 20 kg
Which of the following is NOT a part of capstan lathe?

(A) Chuck (B) Tailstock (C) Spindle (D) Tool post
The gears used in clocks are manufactured by means of process.

(A) Stamping (B) Extrusion (C) Milling (D) Broaching
Which of the following operations does NOT use a jig?

(A) Turning (B) Drilling (C) Reaming (D) Tapping

Quick return mechanism is incorporated in a-
(A) Milling machine (B) Broaching machine (C) Slotting machine (D) Lathe machine

Conveyors are extensively used as material handling equipment in which of the following
layouts in a factory?

(A) Process layout (B) Product layout (C) Group layout (D) Fixed position
layout

The thickness of the fullering tool is about the as'that of the plates.

(A) Same (B) Double (C) Three times (D) Four times

The design of parallel fillet welded joint is done on the basis of-

(A) Tensile strength (B) Compressive (C) Sheat strength (D) Bending strength
strength

Which of the following fasteners has its both.end threaded?

(A) Stud (B) Cap screw (C) Turn buckle (D) Allen bolt

The number of slots in a 25 mm castle nut is-

) 2 B) 4 © 6 D) 8

Muntz metal contains copper and zinc.in the ratio of-

A 1:1 B) 2:3 © 3:2 M)1:4

Cold shut, defects in casting process, occurs due to-

(A) Lack of molten (B). Poor permeability  (C) Thermal expansion (D) Hydrostatic pressure
metal fluidity of moulding sand of moulding sand of molten metal

The difference betweenthe maximum limit of size and the minimum limit of size is called:

(A) Upper deviation_. (B) Lower deviation ~ (C) Tolerance (D) Actual size

Appropriate tool used for spot facing operation is:

(A) Reaming (B) Spot facing (C) Counter boring (D) Counter sinking

A sine bar is used for:

(A) Levelling the job  (B) Finding the angle  (C) Measuring the (D) Checking the profile
for drilling of taper job diameter of holes of a thread

The composition of soft solder is lead and .
(A) Tin (B) Silver (C) Copper (D) Aluminium

Which punch is used for marking the centres where dividers are to be used?
(A) Bell punch (B) Prick punch (C) Centre punch (D) Dot punch
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ufew & Re & [Awior & forg e det sttaer &1 ST 3R smar @2

(A) T 9T T (B) ETH e dae (OR=1ck-ce (D) ez T
. ¥ TR (dental restoration) I F T yws wwrfeesT fafar v «fF @2
(A) &z FrfeeT (B) =T2 e (C) Faa e (D) ZeaeeHe FTfeeT
Continuous
£asting)
. g wy ¥, e i e & I I FH gL
(A) TgT =f[T (B) grg FfawT ©) faarora (D) FRAT (Knurling)
(Parting off)
. AT g it = T (spindle nose) T Fohe TUT &1 ITART faaT sTa g2
(A) SHT 29T B) area U i 29w (C) U= Tux (D) AIH 2T
QAT FT THA T I T grav gl
(A) a9 (B) i ¥eT (C) FIIT TFT D) #=
. TR Sl E R
(A) 9 Z&Tq B) 3g FEa e (C) A\ (D) gerat wArgr

(Cast iron)

. He MET &, Wiee F oftd WIT it #:47 Fg7 STaT B2
(A) =T B) g7 ©).7] D) T
. o # & =t 491 9HiaT T IIEw §?
(A) TiferuEex (B) TiefisaTE<0N (©) giefrearzia (D) wiefrram
. el oftes wea & o SRS feamrsse wrgr s sr&aT <fie & Tieefir & g
T STaT g2
(A) A gregris  (B) sii=aH Free (O N smiaas D) i FrTEe
_T FAREE
I FATI FT S T | =T 8IaT 8l
(A) Rz a2 B) T TT= (©) gew g 9o (D) ffow 592 i
(Movable jaw) (Fine adjustment THTATSIA U= T
screw)
FATT (Keyways) e & forg @ ST (chisel) &1 STFRT 36T SITaT 82
(A) T2 et (B) TTE uise o (C) 9 o= (D) T3 e e
T T ATST ATAT FT g2 & fore 5 I i wreer () 1 STIRT R strar g2

(A) T & 12 (TT) B) &7 ®wree (W) (C) Hahe Fie hIeed (D) TF HT=d (GLal

(&) )
AT TET S &2 Efedex & Fgia I 1 FaT 2l
(A) = = fofRae (B) gdur arfq ©) =g A=y (D) Hra¥ AT Thid
AT F ITH F FIS H H = T STaT gl
(A) Hrex / fme @B) farfy / e ORE:EIFAERS D) Tt / 7g<
R # T (tooth) FY TS F ¥ 9T {TIT SITaT g I~
(A) = Het (B) fo=r eher (©) uS=w Th (D) R2=H Toher B
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16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

FRafifea & & g afeeT afFaT #§ sgostisa s F1 ST R sTar g2
(A) MIG FfegT B) TIG AfeeT ©) fAwfsT (Fawss) (D) oz afesT
AT afoeT
gfe ST #, TegHi=ae ik s steTss i & staTa ® A R smar 2
(A)1:3 B)1:2 € 1:1 D) 2:1
ufafehi= = q AT AT R
(A) FTaA (B) wfeerm® #wraize (O Ffeaad Farze (D) FHicer@H Frai+e
< &1 s aTHTE: g AfcE T smar 2
(A) E'I_G!'Eﬁ'“T(Pressure (B)ﬂ?ﬁ'qﬁ? (C) =iy fi= (D) o= gt 71 =TT
angle)
e T & whae, FET AT § e (Rrer) Rere F forg sager g 82
(A) TR TST &R (B) Te &hae ©) A 9 I (D) ot T &
THIRIT AT oew | R Sar R
(A) qTaTEE (B) aierTEE (©) Fherre (D) #zrEe
WW(surface gauge)ah'l'm"T %ﬁ"{ﬁﬂTW%l
(A) fa=et &t St e (B) Aeahrort s sitar (C) STl dat (D) st 39T
EaC] (Ttuing) FTA
M20 27 F forg 3= &1 s gl
(A) 17.5 Foefy (B) 18 fafy (©) 18.5 foefy D) 19 fofy
T STANT G SATH hiT TEHT 6 &T ThST HI SIS o (o7 AT 14T 8
(A) e A (B) ar3fer At (©) T Al (D) sfrT of=F At
¢fte #ear =[feT * forg FEAY (SHET) A IUYH graT B
(A) 14 =TT (tooth) gt B) 18 Tq (tooth) gfa (©) 24 =19 (tooth) gfa (D) 32 =74 (tooth) gfa
Exl B Exl =
AT I FT FSAT s /et ST
(A) TrRae FSTEAT CRERRETARG ©) e TR (D) s Farar
ERilEED TEAw e
FfRafia s F F a6 AT A T H TET ATaT 8l
(A) ®E = (B) =X STET 9% (C) Ficre 9% (D) Hfg=t
T STEST 9% +ft gr AT g
(A) Ao Hefr = (B) 4w 9% (©) gFaEd I (D) Taa™ ST 9%
Exaitu) % T[0T T ZeT ht TFHaT B
(A) W(Brittleness) SECIFEERIREL (C) FETa(Toughness) (D) Taaefrerar
(Malleability) (Ductility)
Fga-varatas T sfaar § ammaa: T 39a AUt (SAagarse) I a1 g2
(A) T fafe B) e FTaw (C) s aaE &1 (D) Feaeafa a9
ST e
9 9 T4 qE 9 T T § w1 #°ar g aF 77 7 & 36w o= 1 Suaer 5 strar g2
(A) TFTIT I (B)aiﬂ‘eﬁ%’ (C) BS.W T D) Q‘Fﬁ'(Acme) DES
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

Ay F i =g vy, Qe =t H qheT 14T B

(A) ZEElh (B) ToTEel® (C) HYH 4T D) ==
(Compound rest)

AT F ATl T T T = e R StaT g

(A) TTEETH (B) =T © == D) gewaish

e g R ar ot wfte fror o B & ameaa: w1 Sar &

(A) 60° (B) 40° (©) 30° D) 12°

T HiIds ST (riveted joint) W, TH gt dfkr & qa-umq 791 Rae & ¥l & o7 it T =t 71 F°gm
STaT 87

(A) o7 g (B) <o © fr= D) e i
(Edge distance)

T l-feeaTst weftf=r wiFar & oo ok 1 aeg ST ST f3hT STt 2

A TEaFNFT T B)uERwWEId s (©) UF T9a AquHe. . (D) UF Eeairee
CRERURIEED) T
[EEREI

Fafriea # & Fit a1 e, gifcras fee i Soft 7 arar g2

(A) RffT fhe (B) TATSI= fthe (C) T[T The (D) w e

A IS T TR g8 gt B

(A) &t FSTEFA B) FTATFT (C) ereraaefier D) T s

(Flame hardened) (Case hardened)

Tter faafar & g6 a8 oo, ST qie A S AT § R 3T e v a9 WA §, 7%

AT FgATaT 57

(A) ST (B) &S (C) aTgy I 1Y D) A Ty
(Outer race) (Inner race)

aier faafar it e Fiea % ™ 1w a1 wfear =i |1 82

(A) TR TSET  B) MeAT qTEf=ET (©) aqg aTEr=eT (D) Fraizd ATEE

(Centreless grinding)

A HSI (Age hardening) e d&fea g2

(A) T (B) SEre g © He1 &g (D) %7 4Tg

et Tt 7 TTe faaer F g vy = Fgemar 82

(A) FTFIaT(Stiffness)  (B) qa=sefierar (C) =TT (Fatigue) (D) wfazreshar
(Ductility) (Resistivity)

FAAT TEATT (Cast steel) FY HAN (Chipping) F T T ST (chisel) FT FaT HI0T FhaaT Frar

E

(A) 30° (B) 45° (©) 50° D) 70°

o1 1 e fRaaT g2

(A) 232° C (B) 300° C (C) 400° C (D) 532°C

FTAT LT (blast furnace) ¥ TATTEH TIF T A § § HT AT 87

(A) FAT T B) FFst FHFar (€ Peze (D) F{FTES
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47.
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49.

50.

51.

52.

53.
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56.
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Ig R (stamping) TTHAT, P sfie #eat 9= u& fR=gaT Tga RETsT (shallow relief

design) T %, _ Wﬁﬁ- %l

(A) fefer (B) wrar e (C) i (D) stz
(Triangulation)

et <ot o st fer T & e areT deheee T AT B

(A) 9= I B) =i (C) TR T (D) Trferr

& 39 |, e e, wiage q ST =T Bt gl

(A) T ST (B) FieT S (©) gFaEd AT (D) T (coupling) STTE

g T (coupling), ST T FHIVT IT 9TRA F EFTHS FALT ¥ WIS AT S,

FgATaT gl

(A) wofe 7T (B) =g oA O AT era a1 D) FT THA
(Plate coupling) (Universal coupling) (Slip type coupling) (Clamp coupling)
AT (Linseed) FHTRET TfHaT % HI Futor & & &7 H.A HT 2l
(A) FTTH (B) T it wOAT (C) ITTH (D) Fg==TT (Binder)
AT F e o F FR # afxw A1 g Aremw & g=ria BT Smar ge
(A) T gorreft (B) qefT gr=a © =weiefmffaa D) gw e
TFET
FRaforfea & & atw a1 v FEw staeds ge
(A) THLT (B) 319 FTest C) = D) fArferria Fratze
I, FTH IR
(A) afeETr T (B) ATeET Tohet 1 © AfEmzdagre (D) AfeeT fee
SIGERELL)) &t fArsr e &)
(A) &= ST STEar (B) &< S oA © FET AR TET (D) qiET AT AT
TS 91X (Sine bar) FT g fAfde o stmar 81
(A) %ot aTE B) & T F A= A (C) T . (D) WAl AT FOT
Fx g qag & A1 T Lo
H GTqEl FSreq & forg et g2 arg STeft STt 8
(A) 3 afesT (B) ufd= afesT (©) i FfeeT D) TIG AT
TTH 8 FI9 °1 HiHeS Flaiee STHRN § TIH deaaHhId IRt 82
(A) Feshet (B) FaTeE (©) TegHtfREw D) Frferw
FEATEE T o S R SIeal @ d 8l
() efify iy (B) weww i (©) et (D) Fgd s It
Tie IS F, Toagie T T (tip) e st gt &2
(A) T &t ®) Q?{Fﬁﬁ'm:r ©) qraT (D) fraer (Brass)
F7 e FT TIT # forar StTaT B
(A) 9T HIfesT (B) =TS FTf®aaT (C) TravadT FTEET (D) ATHat T
(Centrifugal casting)
CEERIEC R IGEICEIR IER IR
(A) TaT | goh (B) Ta¥ # ufHfes st (C) @< ® gaeaarat (D) e § [iF ®iehe
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.
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75.

76.
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ag wehifer fafer, S sroerds 0 &1 STT [T SITar g, € 4T FgT SITaT 82

(A) TFEI-FeFATSI (B) stegre Tt 7efife T (C) wATSHT 3mh (D) T T
weftfeT weftfaT weftfeT

FHT (drawing) FTH |, €T & a5g & JaTfed gl gl

(A) aefrerar (B) T FEIHIIT (C) FA#aT (Plasticity) (D) STTETI (Shearing)
(Ductility) (Work hardening)

TAST gHT T A & A gaT &l

(A) 1 3T 2 FFT B) 4 ¥ 10 &I © 12T 15T (D) 15 30T 20 B

el § & A9 a7 Foed AT FT AR T8 87

(A) =R (B) Terei=h © fi==r (D) &t qrEe

af=at # w36 R wiwar gT AT g 2

(A) HETHT (Stamping)  (B) TfRqew (©) fafer (D) #Tt=T
(Extrusion)

Fafcifea & & e aREmemT #§ SE(ig) F71 STIRT 81 giaT 82

(A) =fHr (B) et © GfEr (D) fefr

H ga-aTqEH T (Quick return mechanism) ST AT 3

(A) faferT wefi B) arf=T wefter (©) wifaraefi= (D) =T gefiT

et e § et § @ e demse § araift il ST & &7 # a8 89 98 Fvaay
FT ST AT ST B2

(A) ITRT 33 (B) ITITE A3 (€) F9g 3 (D) feorz feurfa wremse

(Fixed position

layout)
BATTT (fullering) T T HISTS TS I HISTS, I FTHIT grdT gl
(A) TTTET (B) AT (©) e AT (D) =T [T
AT IEHT AT SIE (parallel fillet welded joint) FT RSTE fFeah smer 9= T SmaT 82
(A) TAT-TTHST By wdieT arasd © sgequramE=d (D) F& qrasd
FRaferfe § & g e & 1 RO § I T a8
() T @) F7 =F (©) =t e (D) AT &
25 oY ¥t e A@gian (Fte) i gear fFast gt 82
(A) 2 (B) 4 © 6 D) 8
HeoT &Tq(Muntz metal) H TaT 3 STET _ % AT H g 8
(A)1:1 B)2:3 (C) 3:2 D) 1:4
FHIRET TFHAT | IO Flee € AW % FHILUT IAH gId gl
A freeft ggarg & @B WfcsT @ frgga (O wifesra * (D) forarett g2 amg &
qEAAT Al FHHT AT ardfiT faea LI NERAL]
TR 6T ATAFHAH HIHT L AR 6T JAqH AT & 1= ALl FIT FHgl AT 37
(A) 3gaw o= (B) Reraw o= (C) Tgasfterar (D) aTEafash T
Tt HRAT sitaer F T T SUIH ST FI AT &2 :
(A) ffFT (B) Tqte HIFT (C) FTIeT AT (D) #r3ex i %
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78.

TS qTC HT ST Fhaferg fonar srar g2

() wiia FT RF R B) T st w A

(©) Tt =1 =ame ATae (D) f&Refy o it Tt e

A F4 & forw T 3 % o F foro #Y = w7 F forw
79. |ITE TITST, AT 3T ¥ e T graT 8|
(A) fer (B) =ieT (©) ataT (D) Tt
80. W& Fst T e < % forg g o= 1 ST T ST €, Srgt fRars= i Sy R
ST BI?
(A) e T (B) fir o= ©) ¥z = D) Ttz =
GENERAL APTITUDE

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

9.

95.

96.

Who among the following is the longest serving Chief Minister of Odisha?

(A) Binayak Acharya

(B) Harekrushna
Mahatab

(C) Naveen Patnaik

is the largest district of Odisha by area.

(A) Jharsuguda

(B) Mayurbhanj

(C) Puri

(D) Biju Patnaik

(D) Gajapati

Which of the following rivers is one of the major rivers in the state of Odisha?

(A) Rushikulya River

Bhitarkanika National Park is located in which districtof Odisha?

(A) Kendrapara

(B) Bhavani River

(B) Jajpur

(C) PambaRiver

(C). Ganjam

The Indian state of Orissa was formed in the year-

(A) 1940

B) 1939

(€). 1936

(D) Soan River
(D) Cuttack

D) 1930

The 16th Ministerial Meeting of Asia Cooperation Dialogue (ACD) was held in-

(A) Oman

(B) Nepal

(C) China

(D) Qatar

Which Indian city is to host the 8th Asian 'Youth Women Handball Championship?

(A) Jaipur

(B) New Delhit

(C) Mumbai

(D) Pune

Who took charge as the Managing Director and CEO of the Multi Commodity Exchange
of India (MCX)) in May 20197

(A) Pareshnath Paul

India and
(&) Japan

(B) ‘Deepak Mehta

(C) Chittaranjan Rege

(D) P. S. Reddy

signed a protocol for the export of Indian chilli meal in May 2019.

(B) Nepal

(C) China

(D) Bangladesh

Who won the Orange Cap for scoring the highest runs in the IPL 20197

(A) David Warner

(B) Chris Gayle

(C) Rohit Sharma

(D) Quinton de Kock

Two numbers differ by 5. If their product is 336, then find the sum of the two numbers.

A) 21

B) 28

Simplify: [(10)* X (12)°] + (24)*

(A) 25

B) 34

P can do 2/5 part of some work in 10 days. If P and Q can do 1/3 part of the same work in

(A) 2:3

B) 4:3

Find the cost of an article sold at 20% gain for I360.

(A) %400

If x = 16% of x + 42, then find the value of 'x'.

(A) 50

B) 2260

B) 52

Choose the MISSPELT word.

(A) Ecosystem

(B) Millenium

©) 37 D) 51
©) 65 D) 72
© 3:2 D)3:4
(C) 2200 D) 2300
(©) 58 D) 60

(C) Impeccable

(D) Denomination



97. Fill in the blank with the most appropriate word which will suit the context of the sentence.
(A) Remembered (B) Appreciated (C) Recognized (D) Pinpointed
98. The following sentence is divided into four parts (L, M, N and O). Rearrange it in the
proper sequence in order to make a meaningful sentence.
(L) That describes a person or thing
(M) Or gives extra information about them
(N) An adjective is a word such
(O) As 'big', 'dead’, or 'financial'
(A) LMNO (B) LOMN (©) NMLO (D) NOLM
99. Choose the correct synonym of the given word from the options given below.
PROFICIENT
(A) Ignorant (B) Incapable (C) Honest (D) Skilled
100. Choose the correct antonym of the given word from the options given below.
INDUSTRIOUS
(A) Lazy (B) Hard-working (C) Busy (D) Eager
T AT
81. Rufiiaa & & FI7 ARAT F a9 A« 6T T A9 TEIHAT &2
(A) feaTaF sr=rd (B) ¥FOT HgaTd (C) 7. FeaATTH (D) &1 TeATTH
82. ATFA F R AT &1 g9 7=7 S §)
(A) FATCHIET (B) TS (ORsi) (D) srafq
83. Faferfaa & & =i oY 7t afRe T it ipe afedi & & T §?
(A) iU 7ar (B) A& & (C) daT =&t (D) &I &t
84. Wiax FiAwr TPT ST Afeer & frq o 7 fRua g»
(A) o=t (B) ST © w5y D) Fh
85. WITT T AfeaT &7 5 faver e o wram v
(A) 1940 (B) 1939 (C) 1936 (D) 1930
86. TRAAT HIHIET SR (ACD) it 16T GO 95 Fgl gs fi?
(A) sraTT (B) Tt © == (D) ¥
87. e i erge # 8l wfraTs gar wfg geaier ATa=farT & spisr gi?
(A) STAqE (B) € fareett (©) g ®) T
88. W 2019 H fFaa wedt FATISET TaFa=ST A AT (MCX) F Yaey fA2er® i< CEO ¥ =q &
FTETT GWTAT?
(A) TTETYT qieT (B) <19k Hgar ©) s D) p.s. ¥gr
89. WT 2019 H WA 3 7 Efeww Reft i (Indian chilli meal) ¥ fAafa % RT o
Trerhier g gearer<
(A) STaTT (B) =qTer © == D) FiverTeT
90. IPL 2019 & Hai{&® TT 9T o (o1 e s 9 sfiar?
(A) FEE aWL (B) fre 1T (C) Trfga et (D) Tehea T i
91. T HEATHA FT AT 5 F| I ITHT TOMHA 336 &, AT AT GEATH T TNTHA AT Dl
(A) 21 (B) 28 (C) 37 (D) 51

Page 1 3



Page 1 4

92.

93.

9.

95.

96.

97.

98.

99.

100.

LT FE [(10)2 X (12)7] + (24)?

(A) 25 (B) 34 ©) 65 ®) 72

P et 1 %7 2/5 907 10 &A1 § < Tar g1 I P 3K Q SH &1 &1 1/3 WHT 5 &A1 § &<
T §, STl I&TAT FT SAITT ATT A

(A)2:3 B)4:3 ©) 3:2 D) 3:4

Z360 § 9 ST T 20% FT ATH g AT TE FT HT oI AT L

(A) 400 B) 2260 (C) %200 D) %300

i x = x HT 16% + 42 &, AT 'x' FT AT ATT

(A) 50 (B) 52 (C) 58 D) 60

Choose the MISSPELT word.

(A) Ecosystem (B) Millenium (C) Impeccable (D) Denomination
Fill in the blank with the most appropriate word which will suit the context of the sentence.
(A) Remembered (B) Appreciated (C) Recognized (D) Pinpointed

The following sentence is divided into four parts (L, M, N and O). Rearrange it in the
proper sequence in order to make a meaningful sentence.

(L) That describes a person or thing

(M) Or gives extra information about them

(N) An adjective is a word such

(O) As 'big', 'dead’, or 'financial’

(A) LMNO (B) LOMN (@) NMLO (D) NOLM
Choose the correct synonym of the given word from the options given below.
PROFICIENT

(A) Ignorant (B) Incapable (C) Honest (D) Skilled
Choose the correct antonym of the given.word from the options given below.
INDUSTRIOUS

(A) Lazy (B) Hardawotking (C) Busy (D) Eager
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AU Rl R3a eamgEs 721 o et % ST wea -qRAsT # 7 AEITE w1 99+ YAt & Arqehl qr=rar
Ffera & St

1

AT I Tol@dT TTEET Fled & Tgel AT GeaT [IEdqehT il SAl-ATTd ST T of, 3@ & o 298 100 92 5 ( 80
TATERT FATH/EE & FaTerd TAT 20 FeaT ATHTT AR 9T F) e zod {ifEr waeft sreran s freg & g =y
Toi g1 Ffx et ware &t A1 FHT BT a1 TFaers w1 gierd w7 aAqT [RaHT g5 9| o7 g7 § e off wwre i
TS formET UT T8 § FiE A= A8l AT s

I TIHT ZAFE T HTLAH & HATIET 1 STTUIAT| 2 TH A AT AA-7 {27 A SALAT I TIHT A @A
A T ATYUT/AET T T I TORT b7 F7eq Fram ST st @ e gt o ey srereft aw gnf

AT 3T o [T FEOTTHT e Tl g

FeT-FAEeF T I TF0-I7 UL ZEATAT AT FLATU| S I ZEATEAT g1 HLATAT a7 3TehT IToAT TF FL &l
ST

Tg Uk FEqIF (el il TLIET g Ed T® 9ot & 1= wA0® (A) 7 (D) TF 9% Teqrad sa¥ &@F gl Teh
=T # 7 ot 3T FE/Fa9g g 3E! . TH, A, 39 97 H 37 [ & sqaie Hieed S| o1 397 9o
qfedet & 7 0|

A, TH. ATT. 3T TEHT 9% Gt 11 3 Forw wrat/Aier St w@ree U | o e, U, 3 39 T 9% ae it
T & & Fdd HTA/AI F(d T@Tee Oq F 9| TF I QT T ITL FHT T&at qgl 1 Gl

IAL-T T 7 AT TE FHd A T gl A AT Toh1e T e arfe o9 a7 =6 Jigl

FAGACT, TATSE &, HIATSA, FATAST ATSAT AT TH TR AT @IS ST Ik TA (el AT sreqaa/aeas ariT et
T TIRT G047 Fef | Fioia gl

T T qREaewr # Rt § et o areft s | forar e AR, o uHL S, SO 96w 1 A o Th w6 A
| TRl o= TST 92 T8 FTA AT A T 2

10

9RaT T (A, B, C U& D) AT J@TS & gRIT| STThT 3. TH. 3. I T I Tl 9T Teaaht @ forgel
2l

11

TEEAT T FHITH F goard T IA-T1=1h (OMR) T 96T § Haferd ®rs AT 377 a8 THaeq & (M9l dqaw
ATIH T &1 AT-TTAT FUSHIT I 2

12

BT T 92 % [T el U gl 308 SR H| Teh & ATeF IUC & T YT T &S 3 Agl [@AT SATUIT| 3L H
Tl AT FHIET T AAITS I A Al gRIT| TT: vt FFATS = (Rt Uar 3ivrsiT) # 81 et srqare seweor # et
T To=raT g % qeatda & {10 SRSt S€60r & sifa™ 71T S|




